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¥¥ In 20 we use the XY Cartesian Plane o help us organize points in space:
A

To locate this point we

(x" ) £ generally use

Cry G) CARTESIAN
COORPINATES (i.e. we
specify anx and y
coordinate and that is
enough to find the
point),

Ano’rher way of
locating a point in
space is to use POLAR
COORPINATES where we
specify an angle and a
radius.
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PART 2. CONVERTING & ([FRR
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_EX‘ |. Convert each order pair from Cartesian coordinates to POLAR COORPINATES.
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Ex2. Convert each coordinate from polar coordinates to

(A\ (2,13

s x=rcos® = 2eostm =2

g'-:fs.\ﬂs = 2§l\(,‘tf\ =0

(42, ™B)
X=Y2cxs(-T) = O
\g: Y2sin(-Ty = Y2

((0-42) D

!

Pt



:ERFOIRE(URVES
r=§(6)

%* Given a function in POLAR COORPINATES, we can sketch a curve by creating a table
of values (for various angles, find the corresponding radiuvs)

Ex3. Graph the following:
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NOTE: We can also easily sketch regions (wedges, dises, ete) using polar coordinates and
™ inequalities. Check it out:

5('-[ Sketeh each of the following regions:
[A] rsl, Tps6s 3, [B] Isre2 ,MsOs2r
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%% Suppose we have the following funetion in POLAR COORPINATES: = 5'.(0)
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B S: Find the equation of the TANGENT LINE to the graph of = 3sin(20)
—  when 0=Tf3,
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